EREits

E—FE—AN (BT TRELIERER)

EABEMEEINZIHESE
(B) sM544818 (F) $H6E3831E
(BEAT : FD)
HiERiE FHEA) HE(B) EER(A)-(B) &

N RREEIR A 119, 250, 000 119, 890, 922 ~640, 922

& o [ ERUREERRA 700, 000 700, 000 0
| 5 [ERABRLRITA 290 -200
|7 | ZotmoR A 1,190, 000 1,180, 576 9,024
|| B AR NET (1) 121, 140, 000 121,772, 188 —632, 188
c| | ArE=E §0, 500, 000 80, 083, 431 436, 569
i, |EsEsE 15, 610, 006 15, 296, 188 313,812
¥ |y 21, 205, 000 20, 4886, 302 718, 698

B | | SRl 3, 650, 000 3, 459, 469 190, 531
B {zofhosih 360, 000 330, 239 20, 762
=| [EEEEEhat (2) 121, 325, 000 119, 644, 628 7,660,372
FEIHERIVEER (3) = (1) - (2) —185, 000 2,127, 560 -7, 312, 560
S e N 0 D
1| A [FEESEE MmN AR (4) 0 0 0
& & | RIS EA SR TR IS 13, 260, 000 13, 208, 000 52,000
2|y [EERER G 0 0
£ RS e (5) 13, 260, 000 13, 208, 000 52000
ﬂ_ﬁﬁﬁﬁ%ﬁﬁmﬁ%ﬁ (6) = (4) - (5) ~13, 260, 000 13, 208, 000 —52, 000
I | R BEEEREA R 0 0

@ 5 [RESEREASITA 0 0
| rohoEiEAL (7) 0 i 0
B, |[RREEASEAGTRPIRLH 1,476, 000 1, 353, 000 123, 000
0|y [ EERABA ST AR 1. 200, 000 1, 200, 000 0
&7 [rotaiEBEHEr (8) 2. 676, 000 7, 553, 000 123, 000
z [T mEe NS o (9) = (7) — (8) =2, 676, 000 -2, 553, 000 —123, 000
FiaE=IE (10) 1,000, 000 1, 000, 000
LHESIVEEEEaaT (11) = (3) + (6) + (9) — (10) =17. 121, 000 13, 533, 440 =3, 487, 560
Bk EERE (12) 36, 868, 852 36, 863, 052 0
R ESES (11) + (17) 19, 747, 852 23, 235, 412 —3 487, 560




